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General Instructons :

Q)
(ii)

The question paper has 30 questions in all. All questions are mmpulsory
Marks are indicated against each question.

TWSHOI‘IS from serial number 1 to 8 are very short answer type questions. Each

. (iv)
v)
(vi)

question carries one mark.
Questions from serial number 9 to 21 are 3 marks questions. Answer of these
questions should not exceed 80 words each.

Questions from serial number 22 to 29 are 5 marks qu'estions Answer of these
questions should not exceed 120 words each.

Question number 30 is map question of 3 marks from Geography. After
completion, attach the map inside your answer book.

A - S g Fyati 3 a=a & fon e & U § Aer fa ar?
Which brothers of Germany contributed in compiling the text for children ?

argar/ OR
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Which novel has explained the depletion of English traditional agrarian society ?
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What percentage of India is covered with forests?
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Give one feature of the Civil Rights Movement.

C A7 v e e wer wts o 2 1

How is a federal government organised? ,
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What are the two levels of government in Indian political system ?

/ AT T SHAHIUIG TR § U i S| 1
Give one difference between renewable and non-renewable resources.
7 e i forey e %, e ¥ i it i o s 2 T
 The infant mortality rate of which state-is higher than that of the poorest fegions of the world
s _
c/mﬁm%ﬁm&mﬁ#fﬁuﬁrﬁﬁzﬂwmﬁﬁw .

Mention any two activities which falls under primary sector.

7/ fava srferaen W wuy fava g&-& fal i gyl = favermor sifeg) '3
Analyse any three effects of the First World War on the world economy.
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Ahat were guilds ? How did they make it difficult for new merchants to set business in towns
of England ? Explain

Ngar/ OR
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Highlight any three attempts taken by Londoners to decongest localities during the First
World War.

207 199 TR F Wt § wida gt FE IR ang frowz & Fe @9 w0 #1 smen s

Explain any three causes which led to the decline of Indian cotton textiles in early nineteenth

century.

arwat/ OR

,/u,mgﬂwﬂﬂmm#mﬂqmﬁmﬁmﬁﬁ?ﬂ? By Fw e ) 3
Why did Surat lose its importance as a port in eighteenth century ? Explain.

HYGT/ OR
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Explain measures any three taken in order to resolve the environmental problems in London.

Mﬁ IE F T A &q fafzn & gR a9 FIH 220 2

What steps were taken by the British to curb the freedom of press?
Jgar/ OR

191 W & i 3 T v 3 i H G w2 st am R g 6 ad A

Did novel bring unity in India during end of the 19 century? Give any three arguments in
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support of your answer.

12 ﬂfﬂmrﬁaﬂﬁﬂmﬂtﬁfﬁmﬁi”mwﬁﬁrﬁmﬁmﬁﬁmﬁmﬁ% 3

fer e o i fomt 3 w3 = Wt wmem W

Why did James Augustus Hickey claim that the “Bengal Gazette was a commercial paper
open to all, but influenced by none” 7 Explain.

apEar/ OR
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Give two examples of novalists who tried to translate English novels but then gave up the
idea.

13 A Siitrw $iW ae TfrfErs FR F fFET T-dA fadmanedi = acem Fif

E
Mention any three features each of intensive subsistence farming and commercial farming,
14 e T4 ufEed & A o0 and 5 3wt 3
Mention any six advantages of multi purpose river projects.
15 @ YR i S g & 4 fm e e 3

Distinguish between red soil and laterite soil stating any three points of distinction.
16 37 e w1 e Fifa fa wfeensil ¥ vt v aorites st Ff et o F syl 3
e fem i

Explain the values attributed to women to enable their transform their social and political life.

44/ Tl & 94 fafim i w5 # fRa v Szam g 22 e St 3

How is power shared among governments at different levels? Explain.
‘age 4 of 8
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Why is it so that religious differences created social division in Northern Ireland and failed o

do the same in Netherlands ? Explain.

19 adwa s W) foerm w1 wEeEgl W e s @ T wfa | '

Why is average income considered as an important criterion for development ? Explain.

50 vinfaa Aww @) @ fafl ) swinfza e A gen AT 3

Compare the employment conditions of organized sector with unorganised sector.

2 forrs 3 T o w2 WA fed wm @ o Teera Ftan ) 3

What are common developmental goals ? Mention any four such goals.

D22 fava S st g wm A P 2 A (g e w5 o @ wy e 5

When and why did World Bank and IMF start financial intervéritions in the developing
countries ?

H@@ar/ OR
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How did the First World War create a dramatically new situation in Indian industries ?
Explain. -

At/ OR
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Explain the changes in the work available to women in London during 19* and 20 century g
century.
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Describe the drawbacks of handwritten manuscripts in comparision to printed material.
aryar/ OR

W 1 T ¥ S am g nieensi & gt am ifie # e FifE

Analyse the role and involvement of women in the readership and authorship of novels in

India.
24 vy # A 3l W ¥ ool IeRE Wl W owa Ffan ) [ wEeEl & g savas Seaata® 5
T F gern Wt e |

Mention the states which are the leading producers of wheat and tea in India. Also compare
the climatic conditions required for the cultivation of these crops.

’ 25 ~India is rich in certain types of resources but deficient in some other resources”. Support the 5
statement with examples.

“ A 5 ¥ER F ganel § 99 8, wwﬁmnm%r'mm =1 qfE 32T
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26 ‘= e Ta' T A am s T A g IRl afea s w5

Differentiate I:u:-twceh ‘Coming Together Fu&eration' and ‘Holding Together Federation’ with
examples.

)

27 VI Y WA Sferaen & N B ¥ AU e fRl wie mmieEs- S aiadl w5 Seod S
wHifsu

Mention any five socio-economic changes responsible for breaking down the old notion of
caste hierarchy in India, _ i

28 3= wfa sifad W F AE9E Y9 § HAE fAEE gEEE S w9 6 § 79 F 82 o w5
W FHIfAU |

Inspite of having higher per capita mc:ome, why does Punjab rank lower than Kerala in
Human Development Index ? Explain the reasons.
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NREGA, 2005 is referred to as 'Right to work', Justify the statement.

30 (@)  fRu g wRa F wroritfirs Tammfea A A W ww e fafi Bea T @ 49 T aemn 3
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(30.1) ¥ 3R HYER A fFE YR F 7 18 I §?

(302) {=ad WEA A fea g o avafiya &2
(303) &UFe 9 fFa v ¥ Aiaea 72
(a) One item A is shown in the given political outline map of India. Identify this item

with the help of following mformnhon and write its correct name on the Jine marked
on the map.

(A)  Type of forests

___@L_ On the same political outline map of India, Iocntc and label the iollowmg iters with
appropriate symbols

(B) Sunderban National Park
(C)  Hirakud Dam
Note : The following questions are for the visually impaired Candidates nnlj,'.
(30.1) What type of forests are found in Jammu and Kashmir ?
(30.2) In which state is Sunderban National Park located ?
] (303) In which state is Hirakud dam located ? '
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